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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Choose the correct option/Answer the
question of the following : 1x7=7

(a) ‘The sum of squares of deviations of
the value is least’ when deviations are
taken from

TR [oeFr 1l @oiget e @ @fent
oo @R @R T

(i median
TAGAR 290
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(iij mode
IE| o9

(iii) mean
BEIE I

(iv) harmonic mean

[GF A 7[_

(b) The data which have already been

collected by some one is called

S IS AT AR TR AR ST
PRI =

(i) secondary
¢

(i) primary
I

(i) array
BRI

iv) quantitative
iR '
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() When all the values in a series occur

(@)

the same number of times, then one
must not compute

afoa @Bl (AT AFE @R AW G D

(ST STl (PICH! T SferaR @ik 2
{ij mean
iy
(ii) median
TGR
(iiij mode
I=F
(iv) weighted mean
wifs WY

In a frequency distribution, the last
cumulative frequency is 500, then Qs,
the third quartile must lie in

B! ISl RoEms I T AT IRQTS
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iy 275t item

275 o
(i) 375t item

375 ©%
(iii) 150t item

150 o
fiv) 175t item

175 o
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(e)

(9)

If the price of a commodity remains at
Rs. 20 per Kg for the whole month,
then measure of dispersion will be

97 b1 IBI W 20 BRA (AMNDE TS 1T AT
(ST WA ]

(i) Rs. 20
i) Rs. 2
(iii) Re. O
fiv) Re. 1

If S. D. of xis 5, find the S.D. of'35£+1.

W x I TS Roew 5, (o= §+1 I
v Terean |

The first three moments of a

distribution about the mean ¥ a
0, 4 and 0. The distribution isX *

M @Bl ITH G A eaw RO o
0, 4 IR 0 W, (S IBAH! ]

(i) symmetrical
afessy
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(ii) skewed to the left
AN A
| (iij) Normal
| AN
(iv) skewed to the right
S Sy

[ 2. Answer the following questions briefly :

2%x4=8

(a) Define co-efficient of variation. Also
mention its importance.

o el RE fml| W WGFORTR
T =i

(b) Write down one merit and one demerit
of median. '

NI G5 @ =R g5 (1 Tl |

(c) State the properties of correlation
coefficient.

AR BT g

(d) Mention fwo properties of regression
co-efficient.

AT SN 707 of TrE 4|
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3. Answer any three questions from the
following : 5x3=15

(a) Show that standard deviation is
independent of change of origin but not
of scale.

(48 @ AT Reem YelRmm @sigw
e Te 7w, 8 (oge™ T sifRadg eslg
|

(b) D.ravEr the ogives for the following
distribution showing the number of
marks of 59 students in a particular

subject : :
59 &9 Pag o1 RTER @iy TIPTE M @i
: . |
COIRY I 1Y S
z:;(s: T 010 1020 2090 3040 40-50 5060 60-70

No. of students: 4 8 11 15 12 6
(&R =)

3

(c) Estimate f(5) from the following data
by appropriate method of interpolation :

2T SRR AR £(5)3 W Shrex ¢
x 4 6 8 10 12
flx): 4 12 20 40 g
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(d) Show that correlation coefficient is
invariant of change of origin and scale.

AR BN TAARY TS 5oFY IR 89 TS
fseT= 7=

(e) Given (7l &)

(i) (A)=90, (AB)=40, N=150 and
(B)=80. Prepare the 2x2 contigency
table. 3

2x2 FABCE OIfeTPl W4H TS 341 |

(i) When are two attributes said to
be positively and negativity
associated ? Also define complete
association and dissociation of two
attributes. 2

Tl @ (S WF THH A AN
e PR vt e

- 4. Answer any three questions from the

following : 10x3=30

{a) (i) Given below is the distribution of
120 candidates obtained marks X
in a certain examination (all marks
are given in the whole number)
3+4=7
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B! AHIS 120 T AR (oM TP
fral =itz

C.l : 1020 20-30 3040 40-50 50-60 60-70 70-80
(4R o)
No. of students : 30 20 15 25 10 15 5
(g5 ™)

Calculate mean and standard deviation.
3+4=7
T W% N [oew Refay a1

(i) Mention the requisites for an ideal
measure of central tendency. 3

@R 23 PR Toige RS
TE =i

In a partially destroyed laboratory,
record of an analysis of correlation
data, the following results are legible :

(b) (i)

V(X)=9, regression equations are
8X-10Y+66=0, 4X_18y =214
Find —

(1) the mean value of X and Y;

(2) correlation coefficient be
Xand Y; tween

(3) standard deviation of v,
2+2+2=6
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(i)

(¢ ()
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SIRFOIR R @RI RFI9NR GBI “|t
SAPR AT [ReaEd sk @

FAIFTIZ, 0 43I 3

V(X)=9, W= AT 5 =
8X-10Y +66=0, 4X-18Y =214-
e w—

i) X% YINC AN,

(i) X SR YI ATEE ONT ;

(i) Y3 97 Reew|

Define multiple and partial

correlation with the help of an
example. 2+2=4

T2 AR AR TREF T TR
e wget
Given the values
(frl W] W)

4 5 7 10 11 13
: 48 100 294 900 1210 2028

Construct the table of divided difference.
5

Reoiftre sy u oiffR ows =
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(i) If four equidistant values u_;, up,
u©; and u, are given and a value of

u, is interpolated by Lagrange’s
formula, show that

up; i AT W u, I W TGS
SRR @ AR Sl =W, corera

el @
2 _ 2
U, =yyg + XU +'y—(y3!—1)A2u_1 +_xix3!__1)A2uo
where (39) x+y=1. 5

(d) Derive !:he general quadrature formula
for equidistant ordinates. Hence derive

Simpson’s 3/8th rule. 6+4=10
AR PRICES 40! Sreat s 219 o
o171 3/8 7@ Sfeear)

(e) (i) Evaluate (Sfre)

6] 1
5 L+ x)
using Simpson’s 1/3rd rye, S

o673 1/3 @ 2R IR
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(i} Suppose the relationship between
X and Y is defined as
X W% Y I 995 oo W 41 1w
{qA
Y=a+bx

estimate the unknown cénstant a
and b using method of least

square. | 5
(ot e T I AFRE a IR b I
i et |
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